	INTERACTIVE MULTIMEDIA – WEB AUTHORING 1 – SHERIDAN – Dan Zen
	[image: image1.png]






LESSON 12:  PRACTICE MIDTERM - ANSWERS

There will be questions on the first three modules about in proportion to the number of lessons.

Part 1. Theory

Part 2. Flash Basics

Part 3. Scripting (Objects, Targeting, Programming)
· The questions test the outcomes that you reflected on.  

· It is closed book

· It is short answer, multiple choice and build it questions out of 50 marks.

You will have to be able to code from scratch all of the programming elements but in general, you are tested on one or two things at a time and do not go much deeper than a trace.    Here is a shortened practice exam with a few typical questions from each area.

Be aware that these are sample questions.  You must study more than just what is being tested here.

Part 1. Theory
Q1. Which type of content best relates to the IMM program?  [2]

A. Static

* B. User-created

C. Stored

D. Authoritative

E. None of the above

F. All of the above

Q2.  What does a flute have to do with Interactive Multimedia?  [2]

An environment in which the user can make content

Part 2. Flash Basics
Q3. In the Flash authoring tool, what can you NOT do?  [2]

A. Save your panel layout

B. Curve lines after they are drawn

C. Make shapes into a movieClip once you have drawn them

D. Change the stage color

* E. None of the above (you can do all)

Q4. Name six panels in Flash [3]

Property, Library, Actions, Info, MovieExplorer, Components, etc.

Part 3. Scripting (Objects, Targeting, Programming)
Q5. Which one is NOT a built in Flash Object?  [2]

A. MovieClip

* B. Random

C. Key

D. TextField

E. None of the above (all are Flash Objects)

Q6. Which statement is true:  [2]

A. tally is a built in ActionScript property

B. tally is a built in ActionScript method

C. tally is a built in ActionScript object

D. tally is a built in ActionScript event

* E. None of the above

Q6.  What were four types of buttons we made (used) during the dynamic pages exercise  [2]

highlighting links, multi-purpose buttons, animated buttons and component buttons

Q7. Which events are the safest combination to start and stop a drag  [2]

A. onPress onRelease

* B. onPress onMouseUp

C. onMouseDown onMouseUp

D. onMouseDown onRelease

E. any of the above

Q8.  Assuming your movie has one frame, write a frame script to dynamically animate a clip called square (in the root) so that it fades away and disappears.   [3]

onEnterFrame = function() {

square._alpha += -1;   

// or square._alpha -= 1 // or square._alpha-- // or some number other than 1

// you could put in a conditional to stop this once it is <= 0 but you do not need to

}
Q9.  Assume that you have a clip called person in the root and inside that is a clip called head and a clip called body.  Inside body there is a clip called belly.  Inside head there is a clip called smile.  Write the frame script on the main timeline that will make the smile go to and stop on the second frame when you release on the belly.  [6]

person.body.belly.onRelease = function() {


person.head.smile.gotoAndStop(2);

}
Q10.  Use the createEmptyMovieClip(instance, depth) Method to make a blank clip with the instance name "city".  Use the attachMovie(linkage, instance, depth) Method to attach a clip in the library with a linkage name of "building" to the city clip.  Make the building clip have an instance name of  "b1".   [3]

_root.createEmptyMovieClip("city", 10);

city.attachMovieClip("building", "b1", 20);
Q11.  Make two variables and trace the two variables concatenated together [2]

x = "class";

y = "Hello ";

trace (x + y);
Q12.  Define and call a function that accepts two parameters and traces the biggest parameter [4]

biggest(1,3);

function biggest(a,b) {


if (a > b) {



trace (a);

} else if (a == b) {  // you would not have needed this one


trace (a + " and " + b);

} else {


trace (b);

}

}

Q13.  Make a loop that counts down from i=10 and adds each value of i to the variable total.  Trace total once the loop finishes [5]

total = 0;

for (i=10; i>=0; i--) {


total += i;

}

trace(total);
Q14.  Assuming that we have a clip called raygun and a hundred spaceships on the root called s1, s2, s3, etc. use dynamic targeting in a root frame script so that when you release on raygun a random saucer gets half the size.  Make a conditional that makes the saucer disappear if its scale is less than 10%.  [8] 
raygun.onRelease = function() {


rand = Math.ceil(Math.random() * 100);


clip = _root["s" + rand];


clip._xscale = clip._xscale / 2;


clip._yscale = clip._yscale / 2;


if (clip._xscale < 10) {



clip._visible = 0;


}

}
Q15. ball.x = 4; is the same as:  [2]

A. ball[x] = 4;

* B. ball["x"] = 4;

C. ball[x] == 4;

D. ball["x"] == 4;

E. None of the above

BONUS  (I will not do a bonus on the midterm though ;-)

Q16. Assuming ball was created in a clip called room inside the root, the above is the same as:  [2]
A. _root.room.ball.x

B. _root["room"]["ball"]["x"]

C. _root.room["ball"].x

D. _root.room.ball["x"]

* E. All of the above
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